UP Board Class 12 Chemistry Question Paper 2023 (Code 347 BZ)
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Note : First 15 minutes are allotted for the candidates to read the quesnon
paper.
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nstruction : |
i) All questions are compulsory. Marks allotted 1o each question are
given in the margin.
iiy In numerical questions, give all the steps of calculation.
i) Give relevant answers to the quesuons.
iwv). Give chemical equauons wherever necessary.
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m) 4 wv) 6. 1
d) 3.0 g THIZE A 80 g TR 3 A &) Aeas I Hewerl

) 00625 mol kg~ ii) 000625 mol kg™’

iii) 0625 mol kg’ iv) 625 mol kg 1
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i) 3.465x107s i)  3-465x10%s

1) 3-465):10'18 1v) 3-465x10""s. 1
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1)
Four alternatives are given in each part of this question. Select the
correct alternative and write it in your answer-book :
The number of atoms in a body centred cubic ( bee ) unit cell 18

a)

1) ] 1) 2

i) 4 iv) 6. ]
b) 3-0 g of acetic acid is dissolved in 80 g of benzene. The molality of

the solution 18 |

) 00625 mol kg™’ i)  0-00625 mol kg’

i) 0625 mol kg" 1v) 6-25 mol kg~'. 1
) Velocity constant for a first order reaction is 2-0x1073s™!. The

half-life period for this reaction 1s

i) 3.465x10°s i) 3-465x10%s

iiij 3-465x107's iv) 3-465x107%s. 1

d) The base not present in DNA is |
i) Guanine

1) Adenine _ |
i)  Cytosine iv) I:Jracnl.
c) IUPAC name of CH;=CH—CH-CHj 1s

I
CH,;-0OH
1) 2-hydroxy 3-methyl butanal
i) 2-methyl butan-3-ol
i) 3-methyl butan-2-ol '
1v) methy] hydroxybutanal. l

f) Hinsberg reagent is

1) Ethyl oxalate
i) Tnmethyl amine
1) Benzene sulphonyl chloride 1

v)  Benzyl chlonde
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An element forms ccp lattice. If the length of its core of unit cell 1s
408:6 pm, then calculate the density of the element. (Atomic

weight = 1079 u ) 2
Explain the following defects : 1 + |
1) Interstitial i) F-centred.

What is Kohlrausch law ? Write its applications. | % ]

On dissolution of 2-0 g of a non-electrolyte in 50-0 g benzene, its
freezing point decreases by 040 K. The [reezing point depression

constant of benzene is 512 K kg mol-!. Calculate the molar mass

of the solute. : 2
f=1 & QUHARC : 1 + 1
ij  AEA FHU WG i) OIEA

f= &1 WAHHTIU 1 +1
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JENY FATET & A FARNA AR

FRUT Gfgd WL FAC ¢ 1 + |

) [NiCl, )" gEe @ W& [Ni(co),| sfay=wm ¥, F@ T

TSHARA € | |

|Fe(H,0),)* %@ F[TaH1 ¢ FaFE  [Fe(CN) | 377

F{TEAHE &

qrefrezeA Far § 2 e AEn T 1+ 1
Explain the following : L | + 1
1) Electrophoresis 1) Dialysis.

1 +

Explain the following -
1) Why is the atomic size of noble gases comparatively larger ?

ii) Being almost equal in eclectronegativity, Nitrogen forms
hydrogen bond while chlorine does not.

Justify with reasons
1) [NiCl‘lf- )s paramagnetic while [Ni(COj, | 1s diamaznete

4lthough both are tetrahedral.
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d)

b)

d)

1
3

'I-L‘t_‘l l 'T:

4

1 a=- 3
i)  [Fe(H,0),]”" is stronger paramagnetic while (Fe(CN) I" 'S

weaker paramagnetic.
What are polypeptides ? Explain with example.

0-05 mol L' NaOH &8 & Fem &1 =8 2:0 cm @ A 190 cm
¥ | fasaa &t HE & oA 9faty 5.55x1030hm €1 38 G E L

1 + 1
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The column of a solution of 005 mol L-! NaOH has diameter

2-0 cm and length 100 cm. The resistance of column of solution 18

5.55x 100 ohm. Calculate its resistivity, conductivity and molar
conducuvity. | + 1+ 1
Write short notes on the following : ( 1L+ 1+1
1) Tyndall effect

i) Brownian movement

i) Coagulauon.

Write the structural formula of fructose. How is it different from

the structure of glucose ? - l% + Ii
Give a chemical test for differemtiating the following couple of
compounds : | # 1+ 1]
1) Secondary and tertiary amines

1) Methyl amine and dimethyl amine

n)  Ethylamine and aniline.

FAYATE T I A AN @ wOHd § 2 0F 79 H FAGAE 350 K1 20g
mfﬂﬁﬂﬁlmgﬁﬁmﬁﬁwmﬂmﬂ‘w
350-50 K & 711 X\ fagg & men z@dA & 0E S0 1@ & fe
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shH &1 99 (s} 1 M€ /atm
1 0 0-5
2 100 0-512
an feis &t AT Fifao |+ 1+ 2

HHAU T F @ )mmwﬁwammmm

mmm*;iafafan | | + 1+ 1+ |

i) ZZrTEliAe e ()

i)  SREARIGY (TUF-1,2-350H4) FAee (111) FARES

jii)  YRICHE FEH PR (111) FATS

iv)  ZITHIA TR Saee ([1) FES ) -
What do you understand by clevation in boiling point ? Boiling
point of a liquid is 350 K. On dissolving 2:0 g of a non-volatile

solute in 100 g liquid, the boiling point of solution becomes
350-50 K. Calculate the molar mass of the solute. K, for the liquid

is 2:50 K kg mol-!. ] +3
What do you understand by order of reaction ? What is the
difference between the first order and zero order reaction ?
Following data was obtained on first order thermal decomposition

of N,O¢ (g) at fixed volume :
2N, O (g) N Og(g)+ O, (1)

S. No. Time (s) Total pressure/atm
l 0 0-5
2 100 0-512
Calculate the velocity constant. ] + § + 2

What are transition c¢clements ?2 Write the names and electronic
configuration of the clements of the first transition series.
Transition metals and their maximum compounds arc
paramagnetic. Explain. 1+ ]+ 2
Write the formulae of the following coordmation compounds -

1+ «11
i) Tetracarbonyl nickel (O)
1) Dichlorobis (cthan-1, 2-diaminc) cobalt (111) chloride
() Pentamine carbonalo cobalt (111) chloride
1v) Tetramine aquachlurido cobaly ([t1) chilondec.

| Turn ove

o
gcollegedunlaa
India’s largest Student Review Platform

S—




wa (FT : 1+1+_1+l+l
© mm#ﬁmwmﬁmmmfﬂmm%?
! ‘ : fan : >
") S()Jﬁmﬂma AT ¥
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W) a< ﬁﬂﬁﬁ e m Hd (copper metal) & ™ f@man

(i) st A (i) AT & W sl @ fafiae ) ARE # Il
ﬁ’mﬂ‘?nxmmmﬂ'@“?%mw Ffufsrar et & 2
2+1+1+1

q) fr=fatiga & [UPAC T i@ - 1+1+1+1+1
) CH,—CH = CH-CH(CH,) Br
i)  (CHa)a—C—CHgy(Br)
iii) CH:,,(:I-I,CI-IQ--(I:lrlCH(I)CI-l,CH3

Hsc"(l:-CHa
CHj;
iv)  (CH,),CBrCH,CH,
v} (CH,),CCl

iii)

6. a)  What happens when (give chemical equations only) :
1+1+1+1+1

1) Concentrated H,S0, is added in calcium fluonde ?
) SO, is passed in water ?
1i1) Calcium hydroxide reacts with ammonium chlonde ?

v]  Concentrated sulphyric acid and copper metal is‘ heated ?
v)  Chlonne gas is passeq in cold caustic soda solution 2
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Describe th'{ method of preparation of dinitrogen in the laboraton
and glso write t'hc chemical cquations of the recactions. Write the
reactions of dinitrogen with (i) oxygen and (1)) magnesium at high

temperature. What is its reaction with hydrogen in presence of
catalyst at 773 K temperature ? 2+ 1+ 1+ 1

Write IJUPAC names of the followine 1+ 1 +1+1 ¢ ]
i) CH3—CH = CH- CH(CHj,) Brg

i) (CHj)3—C=CH,(Br)
i) CH3CHQCH2-?HCH(”CH2C}I3
H3C -(l:_ CHQ

CHj,
iv)  (CH,;),CBrCH,CH,

v) (CH,),CCl

OR
Explain with reasons : ] +2 +2
l} Sulphuric acid is not used in the reaction of alcohol and KI.
i) Haloalkanes form alkyl cyanide as chief product on reaction

with KCN, while isocyanide as chief product on reaction with
AgCN. https:/www.upboardonline.com

11i) Althogg_h chlorine is an electron withdrawing group, even
then it is ortho- and para-directing in aormatic electrophilic
substitution reaction.

Frfefaa sfwfwarei & fou ramafs sdmor fam : 1«1+ 1 41 «
)  WNE-1-3 F AT KMnO, & A9 EiE

i) BT B AAG NaOH F1 I9Refa F IR & arg stufe

iii)  WHE T HNO, ¥ ¥ aiffran

iv) B3R IATSIES &t nurEdR=sie § atfufFEm

v)  WNF- -3 | SOIEEIN SR &5
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mﬁ) ] + 1«1+ 1 + 1

)  Ufue i @REE 9 WS- | - s

i)  wfge drifemm FEEE @ 2-9fe wigm-0.- s
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h)  wnifegess @ NaOH 9093 & ay sfvfwan a0 & 7
) wRltfew o T ® W W 50, g goffa o il & 8 7
v) J?LZ‘—-QWWWEW ﬂﬁmmt 2

]+ 1+1+1 +1

] + 2 + 2

1 +1+1+1+1

ii) Reaction of Pl'“'”~‘n°l with chloroform in prescnce of aqueous
NaOH

iii)  Reaction of phenol with dil. HNO,
1v) Reaction of hydrogen iodide with methoxy'benzcne

v) Formation of propoXypropane from propan-1-ol.
OR
How can the following changes be done ? (Give chemical equations
only) 1+ 1+]14+]1+]
i) Propan-1-ol from ethyl magnesium chloride
11) 2-methyl propan-2-ol from methyl magnesium bromide
111) Benzoic acid from benzyl alcohol
1v) Picric acid from phenol
v) Dehydration of propan-2-ol.

b) What happens when (Give chemical equations only) —
1) Acetaldehyde reacts with dil, NaOH ?
11) Acetone is heated with solid barium hydroxide ?
111) Formaldehyde reacts with concentrated NaOH solution ?
v)  Acetic acid reacts with ethanol in presence of H,S0,.

v) Acetaldehyde reacts with phenyl hydrazine ?
1L+ 1+1+1+] \

OR
Wnte short notes on the following : 14+2+2 ‘
X 1) Kolbe electrolysis
11) Aldol condensatign
1)  Rosenmund reduction . https://wwww.upboardonline.com
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